N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x . X < B4
5] L . [*] 5] 5]
g, : g . g S r
T e prlen o 103 ®
g ; . £° .
[ . r =
10°F s 10°F 3
E : E 102
10°F Seebe 10°F
: P : 10
10 -t : 10
MR HITEN | | R 4
g - —_— T n
© ——
= TEWT: Poed- Al b 2 Togf--t HF =
0.5F--t bl i 1 | e o [ 111 kN R H
R B 1L B R | 1 R ey e 1 | B P R
-25-20-15-10-5 0 5 10 15 20 25 O'—25—20—15—10 -5°0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 —-25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
@ ) ¢ Fon T T o, T K]
g 8 g g
3 3 Q
1 §10 %].O §
g
=}
=l
10? 10? 10?
10
1
o o o o
T IBRE  GREREERE 3 I
o4 o o o
09H----2----{HH- ¥ - - JHH | - - - - - -
8By =20 -10 0 10 20 30 8020 -10 0 10 20 30 20 30 -30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


